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CIELABuZ standard lightness I*

Ya=Yw - nc=100,

I CiELABU2 B9 (YY) 259 (¥,=18, Y, /100<Y<=Y, )
I*(3,6)=22,I*,(18)=50,I*\,/(90)=103

log[i* /1 ]=

1
1Y,=18
Yn=36 1 Yy=90

CIELABuU2
tristimulus value difference
YoemYw  nc=100,
I CiELABU2 B9 (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] logY)

A
I* =50, dY,=4,27, dY,/Y,=0,2377 _ =

................ =

log(dY)=4,27, m,=0,59 o

1
1
1
1
! application
1 range

1

'v,=18

log AY/Y) CIELABu2
_ tristimulus value sensitivity
S=@avr) YotV nc=100
I CiELABU2 =B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,5(Y,,/58)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) logt)

CIELABuU2
tristimulus value contrast
Yoc=Yw nc=100
I CiELABU2 =B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(Y/dY)= - log[2,5/,,/58)] + (1/2,5) log{/Y,)

- (1/2,5) log[2,5(,,/58)] + (1/2,5) log¥)

C,=(Y/AY)

=50, dY,=4,27, Y /dY,=4
log(Y/dY)=0,62 m,=0,39 _ ~

W

application
range

Y,=18
Yn=3.6  Yyw=90

TUB-test chart BEY2; CIELABu2I* &

CIELABUZ relative standard lightnessI*/I*
I Yoc=Yw - nc=100,

I CiELABU2 B9 (Y/Y) 259 (=18, ¥,/100<Y<=Y, )
1 (3,6)=22,1* ,(18)=50,I* (90)=103

log(AY/AY,) CIELABU2 relative
AYIAY tristimulus value difference
i YocmYw - nc=100,
I ClELABU2 B9 (Y/Y) 259 (V,=18, ¥, /100<Y<=Y, )
log(dY/dY,) = [1-(1/2,5)] log¥//Y,)

log [(AY/Y) 1 AYIY),] CIELABU2 relative
tistimulus value sensitivity

SIS =(AYM)I(AYIY), Yoc=Yw =100

nc
I CiELABU2 5O (YY) 259 (¥V,=18, ¥, /100<Y<=Y, )
logl(dY)/(AY/Y),] = - (1/2,5) logl/Y,)

log[(dY/YY(dY/Y),]=0, m,=-0,39
I* =50, dY,=4,27, dY,/Y,=0,2377

YN=3,6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABU2 relative
tistimulus value contrast
CelCru=(YIB(YIAY)y - 2y o 2100
I ClELABU2 5O (Y/Y) 259 (V,=18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY) ] = (1/2,5) logl{/Y,)

CIELABu2 standard lightness L*

L* Yoc=L*w - nc=100

L* ciELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
L*(3,6)=22,L* ,(18)=50,L*(90)=103

1
1Y, =18
MN=3,671 Yy =00 T

BEY21-1A

logAY) CIELABu2
AY tristimulus value difference
Yoc=L*w - nc=100,

L* CiELABu2 =59 (Y/Y) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1~(1/2,5)] logY)

A

u=50, dY,=4,27, dY,/Y,,=0, 2377

application
range

'v,=18

BEY21-3A

log AY/Y) CIELABu2

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
L* CiELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2.,5) log{)

BEY21-5A

log (Y/AY) CIELABuU2

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
L* CiELABu2 =59 (Y/Y,) Y259 (¥,=18, Y, /100<Y<=Y, )
log(Y/dY)= - log[2,5(/,/58)] + (1/2,5) log¥/Y,)
— (1/2,5) log[2,5¢,/58)] + (1/2,5) logy)
L* =50, dY,=4,27, Y,/dY,=4
log(Y/dY)0,62 m,=0,39 _ -

w

application
range

Y,=18
¥N=3.600 Y =90 T

BEY21-7A
BEY21-7N

L* for Y/Yy, Ync=(Y&L*) win

Absolute and relative lightness, sensitivity and cont&stc8,42, 1y=1/2,5
M Y

CIELABUZ relative standard lightnessL*/L*
LHIL* Yoc=L*w - nc=100,

L* CiELABU2 =59 (Y/Y) 1259 (¥,=18, Y,/100<Y<=Y,)
L*(3,6)=22,L* ,(18)=50,L*y,(90)=103

log[L*/L* ,]=0, m,=0,46

application
range

Y,=18
Yw=90

BEY21-2A

log(AY/AY,) CIELABU2 relative
AYIAY tristimulus value difference
u Yoe=L*w - ¢ - n=100,
L* ciELABu2 =59 (Y/Yy) Y250 (¥,=18, Y, J/100<Y<=Y,0)
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

BEY21-4A
log [(AY/Y) | (AYIY),] CIELABU2 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* CiELABU2 =59 (Y/Y) 259 (Y,=18, Y,o/100<Y<=Y,)
log[(dYM/(dY/Y)y] = - (1/2,5) log¥/Y,)

log[(dY/YY(dY/Y),]=0, m,=
L* =50, dY,=4,27, dY,/Y,=0,2377 |

100y

YR=3.67 =90 T

<
1
1

BEY21-6A
log [(Y/AY) I (YIAY),] CIELABU2 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
L* cieLauz =59 (YY) H25-9 (Y718, Y,/100Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/2,5) log¥//Y,)

Iog[(Y/de YIAY)J=0, m=0,39

* =50, dY,=4,27, Y, /dY,z4- =
- 1 application
1 range

1y,=18
NNE3601 Ya =90 T

BEY21-8A

indino Ae|dsip Jo Juswainseaw Joj uoneoldde

Sd'/ 4ad'dN01Z2A39/2A39-T0E0220T :uonensibal ani

9po09 :JeudreWw gN.L

Y=




